Vo774 72

ATINCLI

ACRIS
Mk 1.5

Frame Material : 6061-T6
Heat Treated Aluminium Alloy

448 REACH
) 420 ETT
\
- - - - < Tapered ZS44 / ZS56
e Headset
A=
\‘\ Cﬁm
\ 2 %X 6800-2RS ﬁ
LLU MAX <
\ bearing, 4 o,
- 22X10XE g \ 5

31.6mm Seat Post
34.8mm Seat Clamp

D-mount for chain
guide only [not
compatible with
front
derailleur]

1680mm
Post Mount

A\

ANS

\
215 % 63 Shock
228%8 Frame Pivot
228%6 Rocker Pivot \\
\ o
10Nm + Loctite 243 s %,
\7-
el

2 X 698-2RS LLU MAX
bearing, 19%8%6

20Nm + Loctite 243

2 % 6000-2RS LLU MAX
bearing 26X10x8

10Nm + Loctite 2u2

27.5” Wheels
2.5” Tyre Clearance

1187
Wheelbase

73mm Threaded BB
ISCG0S Tabs

SRAM Maxle
14EXI2 Rear Axle

4 x 6800-2RS-LLU MAX
bearing, 19x10x5

10Nm + Loctite 243

733
Standover

350
Static BB

Continuous Outer Gear Cables
Externally Routed Brake Hoses
Stealth Reverb Routing

Frame weight: 3Kg [Medium, no shockK])

Single front chainring specific chainstays
- not compatible with front derailleurs

Upper Shock Position : 150mm Travel

Lower Shock Position : I4Omm Travel

HA [Static]

HA [sagged]

SA, Virtual
[Static)

SA, Virtual
[Sagged])

BB drop
[Static)

BB drop
[sagged]

BB height
[Static)

BB height
[sagged]

CS [Static)

CS [Sagged])

Wheelbase
[Static)

Wheelbase
[Sagged]

Rear Travel Setting

Homm 150mm
Efa IEY= s = (N N -1 k| BT = (R =

n n n n n n
EY EY EY Eu Ew Eu EY EY EY EU Eo Eu
03z 03 03 0OX O0oX 0OoX O3 03 03 OX OX OX
Id V@ O@p FT VWn OF Fa Vg B ITo Vg O
E65 661 B57 661 656 B52 B85S 661 B57 661 B56 B5.2

B6.3 B6 B5.7 B58 B55 B5.2 6B1 B5.B 655 B56 B53 65
74 738 731 735 731 726 74 7386 731 7365 731 726

73.8 735 731 733 73 7286 736 733 728 731 728 724
57 55 se 53 51 48 59 57 sS4 55 53 S1
335 338 341 338 342 345 335 338 341 338 342 345

283 285 298 287 288 302 2891 293 296 295 297 2899

U435 435 435 U435 U35 U35 U35 U435 U35 U35 U435 U35
LU42 442 442 U4E 442 442 443 443 443 443 4U3 443

ngs7z ns1 n8s ns1 Ng9s NsSs N87 ns1 nas ns1 NSs 1SS

n73 N7 N78 N78 N8O N83 173 N76 N738 178 181 N84

xs

-
Seat Tube 4 -
Head Tube | o ieo
Wheelbase| g mse| ne7| im0z

e .

486

6507

Effective Top &&
Tube [ETT]

| staci_sss



